Multiplying Decimals by 10

Find the product.

0.7x10= 04x10= 0.9x10=
0.08x10= 0.05x10= 0.09x10=
0.009 x 10 = 0.003x 10 = 0.004 x 10 =
0.15x10 = 0.36 x 10 = 0.43x10 =
30.05x 10 = 6.007 x 10 = 73.61x10=
9.104 x 10 = 42.35x 10 = 102.4x 10 =
100.09 x 10 = 40.22x 10 = 402.6 x 10 =
77.32x10= 3.4017x 10 = 259x10=
320.48x 10 = 1.235x 10 = 239x10=
0.3021x 10 = 0.006 x 10 = 40.09 x 10 =
0.106 x 10 = 3.6567 x 10 = 0.0413x 10 =
3156 x 10 = 70.092 x 10 = 536.1x 10 =
1.134x 10 = 8.2075x 10 = 413.67 x10 =
3.0239x 10 = 10.5023 x 10 = 5.0009 x 10 =
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